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Shopping word problems 

Grade 4 Word Problems Worksheet 
 
 

Using the below item prices, solve the equations.  

 

loaf of bread = $2.11 carton of milk = $4.17 

pack of butter = $1.82 pack of tomato sauce = $2.95 

tray of eggs = $6.75 bottle of cooking oil = $3.56 

box of oatmeal = $3.24 spaghetti noodles = $5.16 

 

 

1.  _________ What is the total cost of a tray of eggs,  

and 3 bottles of cooking oil? 

 

2. _________ Carl wants to buy spaghetti noodles  

and 2 packs of tomato sauce. How 

much money will he need to pay? 

 

3. _________ Ned purchased 2 cartons of milk and 2  

loaves of bread. If he gave a 20-dollar 

bill to the store cashier, how much was his change? 

 

4. _________ On Ben’s shopping list, he needs to buy 3 bottles of  

cooking oil and 2 trays of eggs. How much will it cost 

him? 

 

5. _________ Jenny bought a pack of tomato sauce, 2 cartons of  

milk and 2 packs of butter. If she had 18 dollars in her 

pocket, how much money will she have left? 

 

6. _________ Mina got the last 4 boxes of oatmeal and 2 packs of  

butter at the store. At the counter, she noticed that 

one box of oatmeal had already expired, so she 

returned it to the store manager. How much would 

she pay in all?  
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Answers 
 
1.     $17.43    What is the total cost of a tray of eggs, and 3 bottles of 

cooking oil? 
 
2.    $11.06    Carl wants to buy spaghetti noodles and 2 packs of  

tomato sauce. How much money will he need to pay? 
 
3.    $7.44      Ned purchased 2 cartons of milk and 2 loaves of bread. If  

he gave a 20-dollar bill to the store cashier, how much 
was his change? 

 
4.    $24.18    On Ben’s shopping list, he needs to buy 3 bottles of  

cooking oil and 2 trays of eggs. How much will it cost 
him? 

 
5.    $3.07     Jenny bought a pack of tomato sauce, 2 cartons of milk  

and 2 packs of butter. If she had 18 dollars in her pocket, 
how much money will she have left? 

 
6.    $13.36    Mina got the last 4 boxes of oatmeal and 2 packs of butter  

at the store. At the counter, she noticed that one box of 
oatmeal had already expired, so she returned it to the 
store manager. How much would she pay in all? 
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